3aKIIFOUNTEBHBIN TAIl PECyOITUKAHCKON OMUMITHA/IBI IO yueOHOMY npeamety «I'eorpadusi»
2022/2023 yuebHbIit 1o

The total of all marks is 30.
Good luck!

Topic 1: Weather hazards and climate change

Extreme climate and weather conditions can create major hazards for people.
Study figure “Global atmospheric circulation” below. Identify the location on the
globe which has low pressure. Underline correct answer. (max 1 mark)

Descending air: cool, dry

North Pole

30 degrees Descending air: cool, dry

North
Fiah Hadley cell
Equator x
High Hadley cell
30 degrees t l
South Descending air: cool, dry
Polar Jet f
/ Ferrel cell
A
—
South Pole +— Polar cell

Descending air: cool, dry

A) North Pole

B) 30° North

C) South Pole

D) 0° (the Equator)
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Which of the following sources of geographical information would you select to
investigate the weather conditions at location X? Underline correct answer. (max
1 mark)

A) average temperature graph
B) infrared satellite image
C) average rainfall graph

D) Saffir-Simpson magnitude data

Location Y experiences dry conditions. Explain one reason why atmospheric
circulation contributes to the climatic conditions at Y. (max 3 marks)

Your Answer

Study figure “Satellite image of a cyclone” below. Identify the feature shown at
X. (max 1 mark)
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Your Answer

Study figures “Map showing the global distribution of cyclones’ tracks” and
“Global sea surface temperatures in °C” below. Explain two reasons for the link
between sea surface temperatures and cyclone distribution. (max 4 marks)
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Your Answer

Explain one human cause of drought. (max 2 marks)

Your Answer

Suggest one impact of drought for people living in a developed country. (max 3
marks)

Your Answer
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Topic 2: Changing Cities

The causes and effects of urbanization can vary between countries at different
levels of development. Study figure “Urbanisation in selected European
Countries” below. Identify the country with the most urban areas. Underline
correct answer. (max 1 mark)

Mainly rural
Rural and urban

Sweden Mainly urban

Ireland

Germany

Portugal

A) Germany

B) Portugal

C) Republic of Ireland
D) Sweden

Define the term urbanization. (max 1 mark)

Your Answer

State one global trend in urbanization over the past 50 years. (max 1 mark)

Your Answer
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Study figure “Evidence for deindustrialisation” below. ldentify two pieces of
evidence that show this area has experienced deindustrialization. (max 2 marks)

Your Answer

Define the term deindustrialization. (max 1 mark)

Your Answer

State one social impact of deindustrialization. (max 1 mark)

Your Answer
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Using just the photograph in figure “Evidence for deindustrialization” above to
investigate deindustrialization would be limiting. Give three changes that could be
made to this investigation that would help prove that other areas have been
affected by deindustrialization. (max 3 marks)

Your Answer

Analyze figure “Migration flow into and out of London” below. Identify the urban
area that received the most migrants from London. Underline correct answer.
(max 1 mark)

Net flow of people to London Newcastle
England and Wales, 2009 - 2012

Migration Flow out of London Middlesbrough
8,450 - 5,000
4,999 - 1,000
999-0

Migration Flow into London
4,001 -7,000

1,000 -4,000 Manthester
— 1-999 Sheffield

Liverpool
. London

Blackpool Hull

Grimsby

nttigham

Telford Norwich
Birmin®Ram Peterborough
Cambridge
Ipswich
L ]
Gloucester
Swansea
Cardiff * ® Southend
Bristol Reading @
Alder. ® Chatham
Crawley
ey e  ®Hastings
e  Portsmouth ® ° Brighton
Worthing

Bournemouth

JlonoHUTENBHBIN TYP Ha aHTJIMHCKOM A3bIKe. [ IuceMeHHOe 3a1anne



3aKIIOUUTEbHBIN Tl PeCyOIMKAaHCKOM OMMITUAb IO y4eOHOMY npeamery «[ eorpadus»
2022/2023 yueOHblii ro1

A) Manchester
B) Newcastle
C) Norwich
D) Southend

State two possible impacts on London of the migration pattern shown in figure
“Migration flow into and out of London™ above. (max 2 marks)
Your Answer

Explain one impact on the Central Business District (CBD) of recent changes in
retailing. (max 2 marks)

Your Answer
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